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The Scots College
6" September 2017
Year § Mathematics Accelerated
Assessment Task 3
Weighting: 15%

Time allowed: 45 minutes

General Instructions
*  Working time — 45 minufes
v Show all necessary working out

*  Board approved caleulators may be used in this assessment task

»  This exam consists of 9 pages

Topic Strand Section | Possible Marks | Mark Achieved
Algebraic Fraefions, Quadratic
Fxpressions and Equations i 15
(Number and Algebra)
Graphs of Parabolas and other Non-
Linear Relationships 2 18
(Number and Algebra)
Angles, Geometrical Figures,
Transformations and Congruence 3 10
(Measurement and Geometry)
Total .43
Percentage 100

Year 8 Mathematics Accelerated Task 3

Section 1 — Algebraic Fractions, Quadrﬁtic Lxpressions and Equations
‘ (15 maris)

SHOW ALL WORKING OUT IN THE SPACES PROVIDED

1. Simplify
7x—7
(=) 1x
7x—6x% -2
®) e1s
x—16
2 Sol_ve _
1 2 5 u
@ ———

‘o) xl—nx+3§=0 .
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'(c) 25 = —9x2 —30x .. b 3 Section 2 - Graphg of Parabolas and othe;‘ Non-Linear Relationships (18 marks)
SHOW ALL WORKING OUT IN THE SPACES PROVIDED

’ 2%
1. Find the equation of the parabola that passes through the origin, as well as the points (\C )
and (-1, 6). S 2

3. A fectangu[ar block of land has a perimeter of 140 m and an area of 1125 m?, By forming

and solving a quadratic equation, find the dimensions of the block. 3 ‘i . }
1 f !
. . 1
2. . BiElch fhe parabola With equation y —_-:_Jc'2 — 6 + 3, showing rfle exaot values fof they ',"
~dy intercepis, and the coordinates of the vertex, Lo S 4
END OFSECTION 1
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3. Tindthe equation represented by this graph: . L o . 1 5. By caleulating the discriminant, determine how many x intercepts the graph of
[ A R A 7 ¥ T TR . y = 2x2 — 4x + 3 will have; and if they exist, whether they are rational or irrational. 2

frer g e “‘, 4+

- PR .

6.  Find the intersection I'Joints ofy = i-and y=3x—2 . p

o S :
4, Sketéh j graph of y = 2¥71 — 1, showing any asymptotes, intercepts, and at lcast one .
- Bthies point. . 4
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Section 3 — Angles, Geometrieal Figures, Transformations and Congruence

7. The cost of hiring a yacht in the Whitsundays is $550: It can accommodate up to 8 people. - - (10 marks)
- o ‘ . .
(a) Write an equation showing the relationship between the number of people and the ! ) _SHOW ALL WORKING OUT IN‘THE SPACES PRAOVIDED
cost per person. . ’ 1 )
(b) Sketch & graph with suitable’start and end poings for the number of people. 2 1. Find the vatues of cach pronumeral
@
.\ i
(&
'/ 88° s
s |
©

- END OF SECTION 2 .
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(a) State the transformation used on the original figure to create the image. 2
A . .

i

() Name which test could be used to demonstrate that the two trangles are congruent. 1

- END OF ASSESSMENT
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Weighting: 15%

Time allowed: 45 minutes

General Instructions
w  Working time — 45 minufes

= Show all necessary Wworking out

«  Board approved caleulators may be wsed in this assessment task

*  This-exam consists of 9 pages

Topie Strand © | Section | Possible Marks | Mark Achieved
Algebraic Fractions, Quadrafic
Lxpressions and Equations [ 15
{Mumber and Algebra}’
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Angles, Geomelrical Figures,
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Percentage 100
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Section 1 — Algebraic Fractions, Quadratic Expressions ahd Equations

SHOW ALL WORKING QUT IN THE SPACES PROVIDED

(15 marls)

1. Simyplify
7x—7 (A o
@ T O 7
s =
Fx—6x2-2 - (;,zL4 7;._ ~z
® SGae 7 e
B3 -1 (i,
(3= 2) (5
B3y
-2 .~
S (v
2, Solve’
L2 8
@ X422 x-3  x%-x—6
¢
(?’5) 2040 ) . ()
()0 (mazd >3

Yo 24 = S (5
x -7 = 5

S (G

D—E;J]M\/»'— 20y

(b) x*—12x+36=0

(w-0) s G
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{c) 25=-9x%—30x 3
qll*—ﬁo';(_ Jrlg = G”

(3:';?15”)1' = O @

)
1)
I
v
=

"3 A rectangutar block of land has a perimeter of 140 m and an area of ] 125'm’, By lorming
and salving a quadratic equation, find the dimensions of the block. 3

e T A = {(?oug = 11§ @

j F0a o3 =128
Jor - ) | Tg-ae .
| ] $* 0 428 = O
i .
k—i_g_l (> -4§ Y5 -2 )= O
e =
P/ T SR @
M b e o -
X = 1 ' |
P -y LS) T3 S 48 L K-?‘g
L@ Block o 4528
708 Jgco
= )
25,25 | i
!
IND OF SECTION 1
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Section 2 — Graphs of Parabolas and other Non-Linear Relationships (18 marks)
SHOW ALL WORKING OUT IN THE SPACES PROVIDED

1. Find the equaiion ol ihe parabola that passes through the origin, as welt as the points (2, 0)

and (-1, 6). 2
i i}\ a \) - z;\( wfw - 133 .-
e A N (O
/
\\, Is "1'\ L*" ,(’)
TN 7 C D)
I VU SR Y S ST
= ( '5)
/ O
2. Skeich the parabola with equation ¥ = x? — 6x + 3, showing {he exacl values for the x
and y intercepls, and the caordinates of the vertex. 4
gt reo, e B
o |-.‘r \J = T
e A Y R
[\\ r -}’ 1 1
_‘oim \ [ oy=aber
R, S e

* = 2~ ) 3\ /
e e O R /

FTRY) TR VAT S
Gt ozfe . -».g,’-'I)
z T i (}’—-L' A
B R P . [ UJ\ v U(r
— ! . ¢ it
- porla  aboese 4 "‘“?h I;.\r;'-.[L'uZ
K= Z\LL-L—L\

R 5'-_(3(3>\3) .”\ .
o (1)
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3. Pind the equation represented by this praph:

"
e

7 4.  Sketch agraphof'y = 2’1‘1 — 1, showing any asymplotes, infercepts, and at least one

other point. . T
shufl [l ek
Aol doom 1. &
v o~k x =0
X -
=2 ot
{ A
N C‘/
S
1 h\k‘ \Jlo é—#'{’
— -l Z_S—
1 . l :O
7.1 w .
=1-2 _
! |
%=l = @(o( CDFI‘L.(’
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4

By calculating the discriminant, determine how meny ¥ intercepts the gryph of

y = 2x? — 4x + 3 will have; and if they exist, whether they are rational br irrational.

A
= (4 -40)0) (O
2 -8 '

A<D

e g (1

Find the inlers;scﬁon points of ¥ = % andy = 3x -2

I
fA BY RN B
f gk 3 -2 = |
., &/‘/ %‘_Jq
—-!V t)--..ﬂ.‘; ‘3“_ 7 — | - O

\,/ OraYn-0 =0 ()

()

—
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The cost of hiring a yacht in the Whitsundays is $550. It can accommodate up fo 8 people.

{a) Write an equation showing the relationship between the number of people and the
cost per persotl.

(b) Sketch a graph with suitable start and end points for the number of people.

l:"'*) {_Q_L A Asduar UQ MR‘L

- Q - sk fuq‘ T.BJS'&’\

c- 2= O

/\;1 3 CZC;SO
A= B , C - $68-75

)

(s ?‘(
4 5%% 1

N
| .[\U.wlh.r O,C
5 l:_u.?b_ .

END OF SECTION 2
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Section 3 — Angles, Geometrical Figures, Transformations and Congruence

SHOW ALL WORIONG OUT IN THE SPACES PROVIDED

(10 markhs)

L. Find the values of each pronumeral \/cu Ao v Lot ol e,

(a) N
’ \ w Ao - -T2
PEEN - e
SN = 28 (e
no_// 8 . \\zr o
kv“'f 7 \-,\:\L \J = 3L - 250 )
;’/ - .‘_\ . - P .
= B 1)
()
/ )
hy ’ P ( Jf)_
/ﬂg"\\;-‘,u 4 IM = %6 \;i//
o pe S8 (40
(e)
i?? n.,\\)\ bs se - - e

\‘_‘5{';"-’-'" .
BTN a0 - A =

' T (- T
o =150 wdhe e Y

2. Draw a diagram that has bvo axes of symmelry, Siale its order of rotationa

Mﬂo’ clous’
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3.  Congider the following diagram,

L

(a) State the transformation used on the original figure to create the imapa. 2
. s
. (ﬂ Fodikion 4 b 10 (o=t
(—;- e 2. } 2. “’P L‘-:_,- \f = 1—)
@ g‘at eoche corrmeh NIV

(Y Mame which test could be used to demonsirate (hal the [wo riangles are congruent. 1
'T[\L Y TAY [)\\Sk TR P I/\.uf\]_;_-_:\u\ 3 _ﬁj"\\tu\
35 J J

(,\,_41 Fij\/\!t o-'-fjkns ’

Mcs'\' o loos 1S SHS
e AHS  codeh b ._.ja-mf )

END OF ASSESSMENT

Year & Mathematics Accelernted Task 3 9




